
 AP Economics   Study Guide for Chapter 7

1.
GDP is the total market value of:

A)
all expenditures on natural resources, labor, and capital goods in an economy in a given year.

B)
all expenditures on consumption, investment, and net exports in an economy in a given year.

C)
all intermediate goods and services produced in an economy in a given year.

D)
all final goods and services produced in an economy in a given year.

2.
Adding the market value of all final and intermediate goods and services in an economy in a given year would result in: 

A)
the calculation of GDP for that year. 

B)
the calculation of NDP for that year.


C)
an amount less than GDP for that year.

 
D)
an amount greater than GDP for that year. 

3.
Which is included in GDP? 

A)
used autos purchased by consumers 

B)
social security payments


C)
telephone service for a home

 
D)
bread for a restaurant 

4.
In November 2000, General Motors purchased an automobile that was delivered to a local dealership in December 2000. The auto was sold to Sharon Smith for personal use in February of 2001. Following national income accounting practices, this auto would be counted as: 

A)
consumption in 2000 and consumption in 2000. 

B)
consumption in 2000 and investment in 2001.


C)
disinvestment in 2000 and consumption in 2001.

 
D)
investment in 2000 and disinvestment in 2001. 

5.
Which would be considered an investment according to economists?

A)
the buying of shares of Janus mutual funds

B)
the purchase of a new machine by Ford


C)
the purchase of stock in MacDonald's


D)
the selling of IBM corporate bonds

6.
In an economy, the value of inventories fell from $75 billion in 2000 to $63 billion in 2001.  In calculating total investment for 2001, national income accountants would: 

A)
decrease it by $75 billion.

B)
increase it by $63 billion.


C)
decrease it by $12 billion.


D)
increase it by $138 billion.

7.
Government purchases in national income accounts would include expenditures for payments of:

A)
social security checks to retirees.

B)
salaries for current U.S. military officers.


C)
public assistance for welfare recipients.


D)
public assistance for military veterans.

8.
Computation of gross domestic product by the expenditure method would include the purchase of: 

A)
fertilizer by a farmer. 

B)
cement by a construction company.


C)
land by the U.S. Department of Interior.

 
D)
government bonds by a commercial bank. 

9.
When gross private domestic investment exceeds depreciation, it can be concluded that: 

A)
net investment is positive. 

B)
net investment is negative.


C)
the economy is exporting more than it imports.

 
D)
the economy is importing more than it exports. 

10.
A nation's capital stock was valued at $500 billion at the start of the year and $575 billion at the end.  Consumption of private fixed capital in the year was $35 billion.  Assuming stable prices, net investment was:

A)
$35 billion.   

B)  $40 billion.   





C)  $45 billion.   

D)  $75 billion.

11.
The consumption of fixed capital in each year's production is called: 

A)
indirect business taxes.    

B)  inventory reduction.    

C)  depreciation.    

D)  investment. 

12.
Disinvestment occurs when: 

A)
businesses sell machinery and equipment to one another. 

B)
the prices of investment goods rise faster than the prices of consumer goods. 

C)
businesses have larger inventories at the end of the year than they had at the start. 

D)
the consumption of private fixed capital exceeds private domestic investment. 

13.
Subtracting the purchase of intermediate products from the value of the sales of final products determines the amount of: 

A)
net investment for a business. 

B)
profit and cost.

C)
value added from the economic activity.

 
D)
surplus or deficit from the economic activity. 

14.
The approach to measuring GDP that adds together compensation to employees, rents, interest income, dividends, undistributed corporate profits, proprietors' income, indirect business taxes, the consumption of fixed capital, and net foreign factor income earned in the United States is the: 

A)
output approach.    

B)  expenditure approach.    

C)  value-added approach.    

D)  incomes approach. 

15.
Susan retired early from her $60,000 a year job. She received a pension of $30,000 a year. She also took a part-time job for $8,000 a year. The net loss of national income is: 

A)
$60,000.    

B)  $52,000.    

C)  $30,000.    

D)  $8,000. 

16.
The GDP deflator or price index equals: 

A)
gross private domestic investment less the consumption of fixed capital. 

B)
gross national product less net foreign factor income earned in the United States. 

C)
nominal GDP divided by real GDP. 

D)
real GDP divided by nominal GDP. 

17.
Consumers in an economy buy only three general types of products, A, B, and C. Changes in the prices of these items over a period are shown below:
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Using year 1 as a base, the value of the country's price index in year 2 is:

A)
100.0.    

B)  103.9.    

C)  105.2.    

D)  106.3. 

18.
In an economy, the total expenditures for a market basket of goods in year 1 (the base year) was $5,000 billion. In year 2, the total expenditure for the same market basket of goods was $5,500 billion. What was the GDP price index for the economy in year 2? 

A)
100    B)  110    C)  115    D)  120 
Use the following to answer questions 19-20:
(GDP figures are in billions of dollars.)
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19.
Refer to the above table. What is the GDP price index in Year 1? 

A)
105.2    B)  108.3    C)  109.6    D)  111.5 

20.
Refer to the above table. What was real GDP in Year 2? 

A)
$4,820 billion    

B)  $4,875 billion    

C)  $4,911 billion    

D)  $5,320 billion 
Use the following to answer questions 21-24:
Answer the question(s) based on the following price and output data over a five-year period for an economy that produces only one good.  Assume that year 2 is the base year. 
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21.
Refer to the above data. If year 2 is the base year, the price index for year 3 is: 

A)
120.    B)  125.    C)  133.    D)  150. 

22.
Refer to the above data. In year 4, nominal GDP would be: 

A)
$60.    B)  $90.    C)  $120.    D)  $316. 

23.
Refer to the above data. Real GDP in year 5 is: 

A)
$120.    B)  $90.    C)  $60.    D)  $30. 

24.
Refer to the above data. The percentage increase in real GDP from year 2 to year 4 is: 

A)
40 percent.    B)  60 percent.    C)  80 percent.    D)  100 percent. 

25.
In year 1, nominal GDP for a nation was $3,053 billion and the price index was 94. In year 2, nominal GDP was $3,166 billion and the price index was 100. To make year 1 GDP comparable with the year 2 (base year) GDP, the year 1 GDP must be: 

A)
inflated to $3,368 billion. 

B)
inflated to $3,248 billion.

C)
deflated by 11 percent.

 
D)
inflated by 8 percent. 

26.
If the consumer price index was 165 in one year and 175 in the next year, then the rate of inflation from one year to the next was approximately:

A)
4.3 percent.   

B)  5.7 percent.   

C)  6.1 percent.   

D)  7.5 percent.
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